MAKON MAGHINERY CO. PTY LTD

Machinery Me

rchants

ABN: 94 786 691 510
PHONE: 02 4950 6611

FAX: 024950 6699

oo ks, ODN -~

o N

10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
28
29
30
31

HP30 Cylinder

Part No’s and List

MM-1798-11
MM-1798-30
MM-772-123
MM-737-028
MM-1798-13
MM-670-014

MM-651-251
MM-1798-8

MM-601-257
MM-678-251

MM-1798-16A

MM-900-255
MM-1798-14
MM-1798-10
MM-1064-2A
MM-1798-47
MM-651-301

MM-626-265
MM-1798-9A
MM-601-213
MM-678-201

MM-1101-111A
MM-1798-15A

MM-1798-19
MM-1798-90

MM-1798-91
MM-651-201

Cylinder

Plug Gauge

Pressure Gauge

HP30 Cylinder Seal Kit
Gland

Stud 3/8” BSW x 2” BRT (Gl

Nut 3/8” BSW Hex BRT
Ram 3 7/8”

Bolt 3/8” BSW x 1” Lg Blk
Spring Washer 3/8” Dia
Part of Seal Kit

Backing Plate

Set Screw 3/8” BSW
Spring Return Bracket
Gauge Rod

Spring Ram Return

Hook

Nut 7/16” BSW

Set Screw 3/8” BSW x 2" Lg
Ball Cage

Bolt 5/16” BSW x 1 %" Lg
Spring Washer 5/16” Dia
Ball Kit

Hand Wheel

Screw

Flat Chuck

Screw (part of Iltem 28)
Vee Chuck

Nut 5/16” BSW

1
1
1
1
1
4

and)

_ A A A Ao

N =2 =2 2 a2 a aNDDNDNMNDDNDMNDMDDNDDN -2 -

www.maxonmachinery.com.au



